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I » mwn: procedure for 7an n

a

b

If someone stole from a 73, denied it under oath and the 13 died, pays wnim 17p and owx to oy —v. 1
If: the 151 died on his way to the wTpn, the money is given to his heirs and the nwr grazes until it develops a o —
i Then: redeemed and money used for nam
ii ~ Note: word nwr in v. 1 refers toj3p—> cannot be given in segments or at night, as it is compared to a 127p
iii ~ And: 2vmn refers to wmn, else the wmn would be the key and it would be 2oyn
iv  And: 2vmn is wmin, not Y93, as reference is to W12 nYnwnn Nnn (only 17p is paid) -v. 3
R17’s analysis:
i If: there isn’t 9w for each 1n3 in that 1nwn, doesn’t fulfill requirement of nawn
ii  Question: what if there isn’t enough for current 1nwn but there is for next one?

1  Lemmal: since it isn’t their 91nwn, invalid OR

2 Lemma2: since there isn’t enough for current 1nwn, belongs to next one — valid — Y’
iii Question:may w103 barter with 2n Y1?

1 Lemmal: since it’s called nWy, just as they may not barter with ma1p, similarly here OR

2 Lemma?2: since it's money, they may swap

3 Answer; may not swap, as it is called DwR
iv Question: are 003 considered heirs or recipients of 0 Y1a?

1 Split the difference: do they inherit value or N> “as is” — e.g. NLan YYY 12pw ynn?

2 Nppr’thisisn't a question — even if they are recipients as a gift, the n1n said that they receive it “as is”

(a) However: question is must they separate 1wyn from it?
(i) Explanation: recipients needn’t separate 2wyn, heirs must
(if) Answer: it is listed among 24 n1n3 NMinn > it is a NN Nann and they are exempt from wyn:
1. manp: 10 in w1pn, 4 in @Y1, 10 outside (including 930 Y1)

II 2> mwn: giving money to n?nd

a

b

If: money was already given to nnn3 (and 1911 died) — money remains with o203 as per v. 2
i »aN’s observation: money must be part of the atonement, else it should go back to heirs, as 1911 didn’t intend for it to
go to 1 if he already achieved n193 (by dying)
1 Note: reason nron and nwR go their ways if owner dies is, in spite of his intention, n% »1ny kn2%n
2 And: reason a nn1 doesn’t go free if she falls to a disgusting p2’ is the assumption that she would have still
opted for her (original) marriage even with this risk (based on "’s assumption of 17 10 annb 190...)
If: he gave the money to “nwn #1 and DWR to #2, Ry; if reversed:
i If: the owR is still alive, give it to #2 and they offer it
ii  But if: the nWR was already brought, must bring another for 1nwn #2
1 Reason: money must be brought with or before 127p — and wnn doesn’t withhold n795 (2991 1°8)
(@) Source:v.1 (125n)
(i) Challenge: v. 4 should have nn after qoin (untrue, as per v. 5)
(ii) Rather: source is v. 1 —11 792 VR
(b) Source for wpn not holding back: from n%»yn (v. 6) and v1pn € - vV’TN: WMIN not 25yn and 131 DWR are 20Yn
2 nnp»1x if he gave the 129p to the current 1nwn and the money to next week’s 1nwn
(@) /7 7 we fine Inwn #2 and the money goes back to nwn #1
(i) Note: »21 says — if 1wn #1 already offered 127, they keep it (‘tho v9) for its pelt
(if) Note: »21 — if the mnwn changed, 129 goes to MWn #2 (since 1wWn #1 didn’t claiim money = 19nn)
1. But: if both mnwn finished, goes back to original ruling
(b) 227 we fine "nwn #1 for accepting 127p without money and j17p goes to Mmwn #2
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